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Section A

€; q).=?za fu{ rr2p.e q,.} qi a\:
; I riffi ya' 6 fu*e EE Edr. J e'rtre gg Fd'Eq ftif e-d3 #€ oa, gp= 0 . ... . ... -. . .. f{o'

;+'g it
rrr) Jd fgq ylitr€' FB a-ss (vowel) rrTtrg dB'

gr{5EY{€Zogn

s) +d fsq hn+a. g6lpriro (consonantl ,i+s uE
o--

=g;r:J3:5
E') Jd fo] ae-e fsJ t+,,m.3 xeo hldET e-JA i{+ '

Ed3-6, fq--ili', q5ril

o) T'dIr{EIr g }rs €uI rl-6€ :

i) fti$, Erfr, rsg ;;1 r^,iqq. Erfr, ,nso

iii) fti$, f-1fr. yliq-d rr ) H-€E. funi;-d ltifr

1fufrsz F€qI /FdrtGI)

5x3 = 15

A-2
g) +6 fufr4{' ",r3 rss hn{+ e1}rS €f,3 Tilg tg t-t ase EE€,

fiTJd rrrS e gfrq-J,f,3 g

,{) A-6 Brfufl ]T3ET€' ,rl-3 fu]iF-6 bitrc S FS €d-] Tdg & t-t ree qe€,

gS'+ ",f3 f tg. rrrS u

s) J6 ful €Jdrr frd 6rF* f+fn6+ sf FS <oet prE

E) Ad furl s-sre{€' S €} q€ tg fr-q-fsq re"E sv€,

6=1, 2rg niu-+

d) +6 fu] sddri FJ a-<a !r610t'e rS €dir rrd€:

i) q,5,E

iii) e,6, E

i) g, E, he

iii) vrt, nl, O

ii) q, 6, H

iv) 5, 6, H

ii) e, h{, g

ivi 9,,rr, a

5x2= 1O



section- B 
I c,.j o./ v

B-1

B) nqro, nse d rflsw f€?
,,1) d-o ful EE-s f<J ug (Root) hr3 €+5d (Affixes) rrrsor qa4 frrt,

hrelr6, ffi, fudaT

s) +5 fu] EEs pgJ IiE-dJ 5ue (complex word) hlsdT qsA Br+'

ifu€*, guEero, Ydlre, ffi-+s, rrder

E) J6 ful ETg f€B'ffi fti6 HTE'e ffi rqE furi,

Bq'S, Hot-u, fly,1ig', v+fro

u) +d fltl EE-s fflB ffi tia ae-E a t t EHrdreqd ase fs'i'

h{rL{y, Erg, gHHE, U-gg, On1

B-2

o) frT{Esssrsraorusl
i) *e, qeq ;i1 ffi,3fr

iii) l, vrr3, rrg iv) *it$, &e'
h{) }tT, flid, q'F, tim xqe * uoz

ii) f€frEE

iv) q3'5=

e) fafuv'{'fcf$ r+ S il$ 3z

i) t ii)fu iii) tit iv) fti6

H) f{funr'-f<frflE ffis s rS rao g}'

i);IE, r{€y, dHE il) 39, rysF, $ra
iii) qrgr, fy, HlI3 iv) dlr€, H, m

u) t6 fun+ur f<d yo<u* HqE s rd <uer gB,

i) dfi, f+<rs, fire ii) *, AE, fqe

iii) d, m, LfdH iv) rT, ffi, ffqs

i) d-€

iii) frfunr

5x3= 15

5x2= 10


